202

PRODUCT INFORMATION / &5k B EREFER]

- R BENRF

- BUEEEE: S(AE-)V) - M(ZT4T L)

- BEEE: XA, [FEmE

- h5-: RIOA(b

- P9 YALY NMURTF TV L33 % SSHRIZEN BBEERNSD
SaEMESRFVLET

Features / ¥5#4:

- Wave h—7>3 7 LIS

— ZRIMRVEHIH

- AyF & T—HkE

- (EEROF5ISRIEFA

- h—JhiI=I&E

- IR=LI—-2ADEEEN—TONIWIS AT L(E=H5—: JAXLAN: 45dB)

05/2024/V1

%SilentGliss



SYSTEM SPECIFICATIONS / S A7 LfIEk

A. SYSTEM

DIMENSIONS /

SAT L EEEHE

h—-FoRKER -
Wave J544—-

3m

20

20

20

20

kg...

25 kg

%SilentGliss

SG 5100



B. PROFILE / L=l

L=en-JINT @
TRk

AEIOEDERETE o2l

ROFZRICTHIGUE

9, 0ERBZDIN—T SG 10925

DIL(CDWTIE 100cm L=

WBERDET, 5FHlE= 4R

HABBWEDELEE v >30cm

(AN

C.HOW TO B A .
MEASURE / |
BIETTE

NN

>‘<—w4>

EHpH

FITTING / 5%

A. FITTING SHREREIBIRICOVT(E. SHEABSHEVWEHEE
INFORMATION /  S\%
SEEEEHk
j‘ab-\y hﬁo)ﬁiﬁ ’ﬂj" max. 500 . max. 500 - 150
L1 []
B. CEILING
FITTING /
KHEEE w

»35>7 - SG 10926 L_ J
min. 120

min. 60

CIERRBCEDEEEMICGREE SV

SG 5100 %SilentGliss



C. WALL FITTING /

IEMEEESE

AN—=NI1YIR
(HENER)

X

AX—hJ1wOAtwh SG 11201 - SG 11204 & )

5>7 SG 10926:

NN

WEERm NILMRD SG 11127 (M4x10)

7

X

7

T

AI)IPAR—RI19) Ay SG 11211 -
SG 11214 & 935>7 SG 10926:
WHEERG NILMRS SG 11127 (M4x10)

7

A-)—YIAI—-bI1yIZzyh SG 11156 & 73>

7 SG 10926:

WEEBm NILMRD SG 11158 (M4x12)

Smart Fix / AXN—NJ499Z

X mm (SG 10926)

SG 11201 /SG 11211

72

SG 11202 /SG 11212 92

SG 11203 /5G 11213 112

SG 11204/ SG 11214 142

SG 11156 182 - 210

& 2Zik
QDS IN

g =/ A II 62

16 9

SG 10926 SG 11127 SG 11158 SG 11201

J3> YIRILIERS M4x10 B3IV M4x12 AN—=RT1wH Xty 80 mm

/\ /\ /\ 80’\
100 b ¢ 120 D ¢ B ¢ >3
<A il o A S22
o US S g < 5 % T
d 4 5
SG 11202 SG 11203 SG 11204 SG 11211

AN—=RJ1wHXtyk 100
mm

AX—hI1wIAtzwh 120

mm

%SilentGliss

AN—=KJ4wH Xty 150
mm

ADIFP AR —RI4wIx 2y b
80 mm

SG 5100



oSN

100 " S 120/\ 150/\ /\
< <7 < B i 3
o S 29 O < 29 29 / \672

16 $
< o oo S
<

SG 11212 SG 11213 SG 11214 SG 11156
ADIPAI =IOy ROIFPAR—RNI1vIAyhs  AVIFAX—-RIq4wIAyh  IZN-H)LAN—-RI1vIX
100 mm 120 mm 150 mm yh 200 mm

SYSTEM

A. WAVE /
WAVE h-5>
SG 6365 SG 10854
SG10887  SG10905
60
&£
SG10845  SG10906

SG 3582 SG 6349

SG 5100

SG 10856

& F

SG 10867

SG 10924

%SilentGliss

OPTIONS / AT AT 3>

Standard components / 1= BT

- SG 6365 Wave \>fi—

- SG 10854 Wave A—I\-3vJJL -k

- SG 10856 Wave IURT>23>

- SG 10867 Wave +FNiRILRRS M4x16
- SG 10887 Wave IUAX7>23>

- SG 10905 Wave 75445 — 80 mm

- SG 10924 Wave 35449 —-HR—-K

Optional components / A>3 RER R :
- SG 10845 Wave XXA—F+v)7 80
- SG 10906 Wave 7544 — 60 mn

Curtain components / h—F &R EbGa:
- SG 3582 Jv)

- SG 6349 Wave 77



Wave stack / fefedHt - 95445 — (AREERERKEDAR)

” % A = Stack depth / BTz Y
%/ // B = Stack size / T&RDIfeH X
T ] C = Min. distance / B2/\EIBR
S “
. e

-4 > - A -
C 2xC
7
Wave 75144 TV N—T>DEH BITORRH U)X =)\
— 80/ f&=% v bR A B* C
N=Fh59
80/175 6 ~2.1 140 180/m 90
h=7>h5v7
80/2.0 7 ~23 160 1a0/m 100
Wave 75144 TYIDIRGT N—T>DEH BITORRHE =) R A B/)\REIhR
— 60 / 18 v bR A B* C
N=Fh59
60/17 4 ~2.1 100 =230/m 70
N=FN59
60 /2.0 5 ~23 120 —230/m 80

* Stack size B / fzfedHX + 180 mm (A8 EDIR)

MOTOR & CONTROLS / -45—-8a>~O-)

A. MOTOR
FEATURES /
E-5—-0fEK

B. MOTOR
SPECIFICATIONS

[ B9

Motor / E—4—

Motor Features / E—4— D45

Soft start / stop / Y7 RRA—b & ZbvTHEE

Touch & Go / AwF & J—H4HE

Manual Override / {SEBRFOF5 | SHR/ERIE

Electronic end-stop / L—IVimEP E S LEAEEE

Electronic revolution counter (unlimited revolution) / BIERTCUIY MDA —
IP class / IP 75X

Control Features / Hll{HD4FE]

Dry contact control / BRI
Suitable for all common home automation systems (with suitable interface) / —RREY IR — LA — MA =23 LB FIEHA T RE

Motors / E—4— E-4-H4X ACEE S IR

SG 5190 L293xW53xD68 100-240VAC 08-04A 50/60H:z

%SilentGliss

SG 5190

o
N
s}

BRATIR

15 cm / sec

SG 5100



C. MOTOR

DIMENSIONS /
ot i D7
D. OPERATING S UL(ESilent GlissICBRIVEDEUIZEL,
METHODS /
BEAZE
BEEEZ(VF 32T NFBEBTEAAYFICLIOTIEBIZEBTEN TER
4 ER
UEI>HI — B2 BUEDHIEBOFI AN EIEETY
[ole]
(o)X}
(oo}
[ )
E. WIRING FRHRRIDFEM(CDOVT(E, HEABBOEDELIZE,
DIAGRAMS /
BoiRE

SG 5100 %SilentGliss



PARTS / 5Bam

A. STANDARD PARTS / BR#E8Bam

B. OPTIONAL PARTS / A7 3 8B

SG 5190 SG 6349 SG 11156

£—-4— AC 100-240V, 1/130 Wave 7—7 IZN=HILAI— I vty
£ 200 mm

SG 10815 SG 6365 SG 11158

HIN— Wave \>H— YIRS M4x12

SG 10823 SG 10822 SG 11201

NIVRIRDEF=T— 1

NAI=FvU7 2y b

A\

AX—=KJ4wIZyh 80 mm

SG 10824

NILRIRIH-E>

SG 10845

Wave XAH—FvU7

SG 11202
AN—=KRJ1wIZzyh 100 mm

SG 10825

NIV~

SG 10854

Wave A—)\-3wTTL—hk

SG 11203
AX—=NJ4wIZyh 120 mm

SG 10836

MmEAYRY

SG 10856

Wave IIA7>>3>

SG 11204
AN—=NI1wIXtzyhk 150 mm

SG 10925

L=

SG 10867

WAVE +F R RILRRS M4x16

NI

SG 11211

ADIT AR —KIT4wIxvh 80
mm

SG 10926

9337

SG 10887

Wave IIA7>>3>

SG 11212

A)IT AR —RI1wI Ay 100
mm

SG 10931

0-5-

SG 10905

Wave 75449 — 80 mm

(.
W
-

5G 11213

AIDIPAI =TI Ay b 120
mm

SG 10933

F7RIATyh

SG 10906

Wave 75449 — 60 mm

SG 11214

ADIT AR —bIJ4wIRZvh 150
mm

SG 10936

A= =59 T7—1s

SG 10924

Wave J 35449 —-Y1R—h

LN

SG 11295
IVRRNT

SG 10940 SG 10927

HARUA=> v

SG 10945 SG 10943

IVRRNTS 723>y
SG 11127

©

IMRILMRST M4x10

%SilentGliss

SG 5100



	SG 5100
	 Product Information / 製品情報 【海外取寄せ品】 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	カーテン最大重量 - ローラー
	カーテン最大重量 - Wave グライダー

	 Profile / レール 
	レールとカーブ加工 の情報
	SG 10925


	 How to measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 10926
	SG 10926


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 10926
	SG 11127
	SG 11158
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 Wave / WAVE カーテン 

	 Motor & Controls / モーター&コントロール 
	 Motor Features / モーターの特徴 
	 Motor Specifications / モーター仕様 
	 Motor Dimensions / モーター寸法 
	 Operating Methods / 操作方法 
	壁固定スイッチ
	リモコン制御

	 Wiring diagrams / 配線図 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 



